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The falling portion of the triangle and sing wave and the 0
state of the square wave is:

L =GRV CX18VeyuppLy _ _ RgRgC
1 v v DB6(2R, .}
2(0z2) 8UPPLY o YsuepLy ARy
Rg Ra

Thus a 50% duty cycle is achieved when Ry = Rg.

If the duty cycle is to be varied over & small range about 50%
only, the connection shown in Figure 3B is slightly more
convenient. A 1k potentiometer may not allow the duty cydle
to be adjusted through 50% on all devices. If a 50% duty cycle
is required, a 2k(2 or SkL) potentiometer should be used.

With two separale liming resistors, the frequency is given by:
I 1
tt B t2 R,C 1 Rg
066| @ ZR,- Rﬂ]

o, fRA=Rg =R
0.33 )
f= BRC {for Figure 3A)
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f=1KHz , C=0.1Uf : 1m1, RA=RB=R n11 .X

0.33

= Tk o1 = 33K9

t1=0.8msec t2=0.2msec < DutyCycle=0.8 ,f=1KHz .2

_t1:0.66 _ 0.8m - 0.66

= = = 5.28K0
A c 0.1u 528
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